1. This is problem 12.34 from Griffiths’ third edition of Electrodynamics:  Please solve as explicitly as possible.  I keep making some mistake, but I can’t figure out what it is.  
[image: image1.jpg]Problem 12.34 In the past, most experiments in particle physics involved stationary targets:
aricle (usually a proton or an electron) was accelerated to a high energy £, and collided
target particle at rest (Fig. 12.29a). Far higher relative encrgies are obtainable (with
 accelerator) if you accelerate hoth particles to encrgy E, and fire them at each other
b). Classically, the energy E of one particle, relative tothe other, is just 4E (why?)—
“ruch of a gain (only a factor of 4). But relaivistically the gain can be enormous. Assuming
o particles have the same mass, 71, show that
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